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. ™ . . ff .
| I | I | I | | I
10000 AR 10000 S 10000 - LT 10000 | 10000
5000 - 5000 5000 5000 5000
t 1 o 0 = ok ok
-5000 ~5000 ~5000 ~5000 ~5000
10000 | S R 10000 10000 S 10000 |- SRR 10000
_IIII|IIII|IIII|IIII| _IIII|IIII|IIII|IIIII _|IIII|IIII|IIII|IIII|IIII|IIII _III|IIII|IIII|IIII|IIII|IIII|IIII|III
- 100 50 ) 50 100 30 20 10 ) 10 20 a0 ~100 50 ) 50 100 30 20 10 ) 10 20 a0 150 -100 -50 O S0 100 150
diff boml Xium diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium diff bpm12X/um
* ™ ff ® * ff *
10000 _ _ 10000 10000 _ _ 10000 | 10000
5000 5000 5000 5000 5000
€g_4asyi_a _ | _ _ _
-5000 ~5000 ~5000 ~5000 | ~5000 |-
10000 ' ' 10000 10000 - ' ' 10000 |- o 10000
' N N T N N N N M N A A I A A I B I N N T N N T T M N T N N N A N A A Lo a boa v o tor v o a b b ol e brraa brr oo b
~100 _50 0 50 100 _30 30 10 0 10 20 an ~100 50 0 50 100 30 30 10 ) 10 20 a0 150 -100 -50 O 50 100 150
diff _bom1Xium diff_bpmda¥ium diff_bpmdeX/um diff_bpmdaY/um diff_bpm12X/um
' ' iff iff bpmdeY iff
B I B I B B I B
10000 ey _ _ 10000 . 10000 10000 | o 10000 |-
5000 - 5000 5000 5000 5000
t ok ok - = ok ok
eg_asym_atr2 ; ; : : :
-5000 ~5000 ~5000 ~5000 ~5000
10000 Dol 10000 |- e 10000 |- LT 10000 | IR 10000 |-
i |IIII|IIII|IIII| _IIII|II 1 | _|IIII|IIII|IIII|IIII|IIII|IIII _III|IIII|IIII|IIII|IIII|IIII|IIII|III

!
1 -20 =10 1] 10 20 30 =150 =100 -50 1] 50 100 150
/

| |
50 — o0 -30
0]31& up an p n 2 diff_bpmdaey/um diff_bpm12X/um
L
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